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HF& ey w1 gera w2 choose the correct option
RIS &l &I aaa a7 ?

Siraj-Ud-Daulah was the Nawab of which place ?
(A) #ASTA Madras (B) s Bombay

(C) @eTreT  Bengal (D) Teeett Delhi

HeTHAT oanell &7 1917 S0 &F WER A TP 3iEias &I IHmald
B, TE Bliel AT ATl 2T ?

Mahatma Gandhi Started a revolution in Bihar in the year 1917, which place was
that?

(A) IrHITG Ramgarh (B) @urzor Champaran

(C) 3=t Ranchi (D)3t Gaya

SMR¥EUs bl faRalr & ————  Birhor of Jharkhand is ----------------
(A) STetoiia Trible (B) 3Teffard St Scheduled Cast

(C) ATHATST Sittal General caste (D)S<ldd A bis oef None of these
oIS & sfaerd #F S, o T o= 3ref B2

In the history of Jharkhand the word ‘Diku’ mears ?

(A) T3 =afera Civilised Person (B) @&t aor Outsiders

(C) enfdHas ofror Religius People (D) a7 Witch

JFITer fagie iRa A wa g3 ?

When did Santhal revolution take place in India ?

(A) 1853 30 (B) 1855 S0 (C) 1857 S0 (D) 1875
20

&g Aot Hal @ AP & P Tipu Sultan was the ruler of which place ?
(A) 3T Assam (B) AIZ Mysore

(C) 31aer Awadh (D) @Bretgz Kanpur

SRIUS B HATSh bl hA Jcd A Adel IFA & ?
Michal Kindo of Jharkhand is related to which game?

(A) Tepebe  Cricket (B) paggl Kabaddi

(C) 8Tt Hockey (D) =N—==T  Kho- Kho
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JE ThIAN HaET - “TANGT A STeHADTE 3BT B, A A AbT

Igor” |

Who said — “Swaraj is my birth right and I shall have it”
(A) HASTcHAT arieff Mahatma Gandhi

(B) HTY Tez orA Subhash Chandra Bose

(C)aret aomerr Taetes Bal Gangadhar Tilak

(D) eiretT &A1 Lala Hardayal

el IeNoT BT ST PH=al AT & ?

The main raw material of Sugar industry is -------

(A) €T Bamboo (B) ate=tT Sugarcane
(C)pura Cotton (D) I Sunflower
STAT A Ulh SMREVS b TopA fortar 3 Rerag 2 2
Betla national Park in Jharkhand is situated in which district ?

(A) prsaT  Koderma (B) ety Palamu

(C)orgar GArhwa (D) eTtaere Latehar

faea Sads=m fead e HTAT SITAT & 2

When is the World population Day celebrated ?

A) 11 Fers 11 July (B) 11 T=Aas=z 11 September
(C) 21 <tas=z 21 November (D)1 ferea= 01 December
YRJVS H 3MPB BT 3G HIT HU A &1 adT -
In Jharkhand the production of Mica is not done in -------

(A) prsTAT Koderma (B) uarey, Palamu

(C) B13&Ys  Giridih (D) otTtarer Hazaribagh

BT [ acerer A Ut &t & ? From which rock is Coal obtained ?

(A) 3TaATET acerar Sedimentary rock
(B) 3119 @eeral  Agneous rock

(C) BTITedRd deelsl  Metamorphic rock
(D)seid A bIg <&t None of these

AT ovRIey H Jditea FAdenfered ue & -
The highest Constitutional post in India Republic is ----
(A) germeTdHsIT  Prime Minister (B) Irsgufer  President

(C) Trs=rater Governor (D) HZ=1 =rearefter  Chief Justice
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oRFvs H Thaer ufdera 3mardl anfearrat wor & ?
What is the percentage of tribals population in Jharkhand

(A) 24 ufaera 24 % (B) 26 ufaera 26%
(C) 28 ufaera 28 % (D) 32 ufaera 32 %

AR H Il b hA 3T db fer:gless dem stferarst fdrem & Svedt
27

To which age group of children are provided free and compulsory education in
India?

(A)3ad A 14 a3 years to 14 years

B)6 adt A 14 ao 6 years to 14 years
()5 ad A 18 ad 35 yearsto 18 years
D)6 ad A 21 T 6 years to 21 years
STd A BT AR BT 21 df I=F TITST & ?

Which one is the 21* High Court of the India ?

(A) BT 3= =Tt Kerala High Court

(B) 3T=aer 3=d =ar=arere  Uttaranchal High Court

(O gmrzvs 3= IrAaTerT Jharkhand High Court

(D) AT UeeT I=d =TTl Madhya Pradesh High Court
REvs H fhdell 3rggfa Sietotiiaratl ferara ozt & 2

How many Scheduled Tribes reside in Jharkhand
(A) 28 (B)3o0 (C)32 (D) 36

IR dorad b fHIuE Bia AT 3mAAT BT difav ?

Which of the following ‘ASAN’ should be exercise to improve memory power ?
(A) ugaTAsT PADAMASAN  (B) oftui=ter SHIRSHASAN

(C) gremr=iet JHOOLASAN (D) ggerHadrAst PAWAN MUKTSAN

HIT TIAT BT GledH Hal 3T T ?
Where Mother Teresa was born ?

(A) a7=a India (B) goT=afa=ar  Yugoslavia
(C) 3TATPBT America (D) fsreet Britain
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